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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER – VI• EXAMINATION – SUMMER 2016 

 

Subject Code: 361903 Date:  11/05/2016      

Subject Name: Industrial Engineering 

Time: 10:30 AM to 01:00 PM Total Marks: 70 

 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 

 

Q.1 (a) (1)Explain term productivity and list various management tools to 

increase productivity.                                                                                                                    

(2)Define work study and explain steps of work study 

04 

03 

 (b) Explain with neat sketches the various symbols used in process 

chart. 

07 

Q.2    

 (a) (1)Difference between Poocess layout and Product layout 

(2)Following observation are taken during turning of a job on lathe 

machine: 

                Loading time                    1.56 min 

               Turning time                     7.10 min 

     Unloading time                 0.90 min 

                Inspection time                 0.80min 

     Overall cycle rating           130% 

     Overall Allowance            20% 

Calculate standard time and nos of items produced during shift of 8 

hours. 

02 
 

05 

 (b) List and explain factors to be considered while designing plant 

layout. 

07 

  OR  

 (b) State various methods of job evalution.Explain any two method of 

them. 

07 

Q.3    

 (a) (1)List the various types of wage plan and Explain “Tailors’s 

differential piece rate system” 

(2)What are the incentives? Explain various type of incentives. 

04 
 

03 

 (b) (2) From the given data in the table, find out mean and standard 

deviation 

Class 0-5 6-11 12-17 18-23 24-29 30-35 36-41 

frequency 5 10 15 21 11 20  10 
 

07 

  OR  

Q.3 (a) What is Normal distribution curve? Explain characteristics of 

normal distribution curve. 

07 

 (b) (1) Name various SQC tools and explain advantages of SQC. 

(2)Explain difference between variable quality charts and attribute 

04 
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quality charts. 03 

    

Q.4    

 (a) (1)State advantages of statistical tolerancing. 

                                                                                                     

(2)Define statistical tolerancing.How they are useful in 

Manufacturing process? 

03 

   

04 

 

 (b) (1)Differentiate between Single sampling plan and Double sampling 

plan. 

(2)What is OC curve? What are the uses of OC curve? 

04 

 03 

  OR  

Q. 4 (a)  Describe the method of drawing variable quality chart ( X bar – R 

chart) 

07 

 (b) (1)An assembly is made up of parts A,B and C having tolerance 0.01 

mm, 0.006 mm 0.05 mm respectively.Calculate assembly tolerance 

and statistical tolerance of assembly. 

(2)Explain concept of normal, reduced and lightened inspection. 

03 
 
 

 04 

    

Q.5    

 (a) Define reliability and explain factors affecting reliability. 07 

 (b) (1) Explain Importance Of “ TQM “ Concept 

(2) State Application Of “ TQC “ Concept 

04 

 03 

  OR  

Q.5 (a) (1) Explain briefly normal working area and maximum working 

area. 

(2)Explain concept of ergonomics and state its uses. 

04 

 03 

 (b) Explain the following. 

(1) Reengineering (2) JIT 

07 

 

************ 

 

 

5|`Gv! V s!f 5|M0S8LJL8L 5N ;DHFJMP 5|M0S8LJL8L J3FZJF DF8[GF D[G[HD[g8GF 8]<;GL IFNL VF5MP 

sZf JS¶:80L GL jIFbIF VF5MP JS¶:80L SZJF S|DLS 5UYLIF\ H6FJMP   

04 

03 

 A 5|M[;[; RF8¶;DF\ J5ZFTL lJlJ3 ;\7FVM VFS|]TL NMZL ;DHFJMP 07 

5|`GvZ V s!f 5|M[;[; ,[ VFp8 VG[ 5|M0S ,[ VFp8 JrR[ GM TOFJT VF5MP 

sZf V[S ,[Y DXLG p5Z HMAG]\ 8GL¶U SZTL JBT[ GLR[ NXF¶J[, DFCLTL V[S9L SZJFDF 

VFJ[, CTLP 

,M0L\U 8F.D                                 1.56 min 

8GL¶U 8F.D                                  7.10 min 

VG,M0L\U 8F.D                             0.90 min 

.g:5[SXG 8F.D                             0.80min 

VMJZVM, ;FIS, Z[8L\U                   130% 

VMJZVM, V[,Fpg;L;                      20% 

:8Fg00 8F.DGL U6TZL SZMP TYF VF9 S,FSGL V[S XLO|8 NZdIFG S[8,F HMA G]\ pt5FNG 

YX[ T[GL U6TZL SZMP 

02 

 

05 

 A %,Fg8 ,[ VFp8 l0hF.G SZTL JBT[ SIF 38SM NIFG DF ,[JFI K[P T[GL IFNL AGFJMP 07 

  VYJF  

 A SFI¶D]<IF\SGGL lJlJ3 ZLTM GF GFD V5MP VG[ SM.56 A[  ;DHFJMP 07 

5|`Gv#    

 V s!f lJlJ3 5|SFZ GF J[H %,FG ,BMP 8[.,;¶ l0OZgXLI, 5L; Z[8 ;L:8D ;DHFJMP 

sZf 5|Mt;FCGM V[8,[ X] lJlJ3 5|SFZ GF 5|Mt;FCG ,BMP  

 

04

03 
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 A GLR[ VF5[,F 8[A, GF 0[8F GM p5IMU SZLP ;Z[ZFX VG[ JLR,G XM3MP 

Class 0-5 6-11 12-17 18-23 24-29 30-35 36-41 

frequency 5 10 15 21 11 20  10 
 

07 

  VYJF  

5|`Gv#    

 V GMD¶, 0L:8=LaI]XG SJ¶ X] K[P GMD¶, 0L:8=LaI]XG SJ¶ GL BF;LIMTM ;DHFJMP 07 

 A s!f SQC GF lJlJ3 8]<; GF GFD VF5M VG[ T[GF OFINF H6FJMP 04 

  sZf R,GFtDS lGI+\6 V,[BM VG[ U]6FtDS lGI+\6 V,[BM GM TOFJT ;DHFJMP 03 

5|`Gv$    

 V s!f:8[8:8LS, 8M,Zg;L\U GF OFINF H6FJMP 

sZf:8[8:8LS, 8M,Zg;L\U GL jIFbIF VF5MP VG[ T[ pt5FNG 5|lSIFDF S[JL ZLT[ p5IMUL K[P 

03 

04 

 A s!f ;L\U, ;[d5,L\U %,FG VG[ 0A, ;[d5,L\U %,FG GL ;ZBFD6L SZMP 

sZf VMP;LP SJ¶ V[8,[ X] VMP;LP SJ¶ GL p5IMULTF H6FJMP 

04 

03 

  VYJF  

5|`Gv$    

 V R,GFtDS lGI+\6 V,[B (X-R) NMZMJFGL ZLT J6¶JMP 07 

 A s!f V[S V[;[Da,L # EFUM H[JFS[ VG[ GL AG[,L K[P VF NZ[S EFUM p5Z VG]S|D[ VG[ 

8M,Zg; VF5[, K[P  

s!f V[;[Da,L 8M,Zg; sZf V[;[Da,L :8[8M:8LS, 8M,Zg; GL U6TZL SZMP 

sZf GMD¶,4 ZL0I]:0 VG[ 8F.8 .g;5[SXGGM Sg;[%8 ;DHFJMP 

03 
 

   

04 

5|`Gv5    

 V EZM;F5F+TFGL jIFbIF VF5MP VG[ T[G[ V;Z SZTF 5ZLA/M H6FJMP 07 

 A s!f TQM G] DCtJ ;DHFJMP 

sZf TQM GL p5IMULTF ;DHFJMP 

04 

03 

  VYJF  

5|`Gv5    

 V s!f GLIDLT VG[ DCTD SFI¶ V[ZLIF lJX[ 8]\SGM3 ,BMP  

sZf VFUM¶GMDLS; bIF, G] J6¶G SZMP VG[ T[GF p5IMU ,BMP 

04 

03 

 A 8]SDF\ ;DHFJMP 

s!f ZL V[gHLlGIZL\U 

sZf H:8 .G 8F.DP 

07 

 

************ 

 

 

 


